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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
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question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed
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B A float uses ———— bytes of memory
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Square Factorial Remainder Percentage | The operator %" is used to calculate.........
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What will be the value of variable “a” after
8.2 8.8 8.0 8 execution of the following part of code
int a=4;
floatb=2.2;
a=a*xb;
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atc== @*L == c%a == a%c == Which of the following is the condition to check a
is a factor of ¢?
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5 4 3 2 There are ---- types of control statements

in C language
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index of an element in array is written within——=--
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While Loop For Loop

Nested Loop Loop Loop with in a loop is called-—-—=---
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The keyword used to transfer the control from a
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function back to the calling function is
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Argument Array Return types Bodies The values passed to a functionarc called
int a ( int x=0) .10
{
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Arguments Array Return type Body }
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In this function int is

R ——

1033 - 1022 - 30000(1)



